Exercise Number Answer given Correct Answer
Construct 7.1.1 incomplete
Question Set 7.1.3 1 PaymentPerPeriod(3,2)*LoanAmount 2777
Question Set 7.7.5 3 cMat([true, false, false,true]’) or cMat([true, false, false,true]) or cMat([true, false,
cMat([true, false, false,true])’ false,true])
Table 8.9.1 mpower element-wise exponentiation mpower is not element-wise exponentiation, but
matrix exponentiation
Animation 8.9.1 inner and outer products are reversed.
Try 8.10.1 sign is off on one of the equations
Animation 11.2.1 avgStrideLengthFt does not appear in avgStrideLengthFt should appear in the parent
the parent function’s workspace function’s workspace once the nested function is
called. Only the nested functions input and
output variables are local to the nested function.
Question Set 12.4.1: 1 TRUE false?
Grayscale images.
Question Set 12.10.2 1 repmat(refPointSingle,10,1) repmat(refPointSingle,10,3)




